
SAP ABAP table OILKOMP {IS-Oil Append}

OILKOMP

OITAXGRP [CHAR (2)]

OITAXTO [CHAR (2)]

OITAXFROM [CHAR (2)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 OILKOMP-OIC_LIFNR = LFA1-LIFNR 

0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 OILKOMP-OIGVEHICLE = OIGV-VEHICLE 

0..N

1

OIH2

MANDT [CLNT (3)]

TAXGRP [CHAR (2)]

 OILKOMP-OITAXGRP = OIH2-TAXGRP 

0..N

0..N

OIH2C_J1B

MANDT [CLNT (3)]

OIHCTXGR [CHAR (4)]

 OILKOMP-OIHCGROUP = OIH2C_J1B-OIHCTXGR 

0..N

0..N

OIH2M_J1B

MANDT [CLNT (3)]

OIHMTXGR [CHAR (4)]

 OILKOMP-OIHMTXGRP = OIH2M_J1B-OIHMTXGR 

0..N

1

OIH2V_J1B

MANDT [CLNT (3)]

OIHVTXGR [CHAR (4)]

 OILKOMP-OIHVGROUP = OIH2V_J1B-OIHVTXGR 

0..N

0..N

OIH4

MANDT [CLNT (3)]

TAXKEY [CHAR (2)]

 OILKOMP-OITAXFROM = OIH4-TAXKEY 

0..N

0..N

 OILKOMP-OITAXTO = OIH4-TAXKEY 0..N

0..N

OIH_ETAX_GRP

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

REGION [CHAR (3)]

TAX_TYPE [CHAR (4)]

TAX_GROUP [CHAR (20)]

 OILKOMP-OIH_ETAX_GROUP = OIH_ETAX_GRP-TAX_GROUP 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 OILKOMP-OIC_DLAND1 = T005-LAND1 
0..N

0..N  OILKOMP-OIC_OLAND1 = T005-LAND1 0..N

0..N T005E

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

COUNC [CHAR (3)]

 OILKOMP-OIC_DCOUNC = T005E-COUNC 

0..N

0..N

 OILKOMP-OIC_OCOUNC = T005E-COUNC 
0..N0..N

T005G

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

CITYC [CHAR (4)]

 OILKOMP-OIC_DCITYC = T005G-CITYC 

0..N

0..N

 OILKOMP-OIC_OCITYC = T005G-CITYC 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 OILKOMP-OIC_DREGIO = T005S-BLAND 

0..N

0..N

 OILKOMP-OIC_OREGIO = T005S-BLAND 

0..N

0..N

TOIGV

CLIENT [CLNT (3)]

VEH_TYPE [CHAR (4)]

 OILKOMP-OIGVEH_TYP = TOIGV-VEH_TYPE 

0..N

0..N

TOIGVCLGR

MANDT [CLNT (3)]

CLASS_GRP [CHAR (10)]

 OILKOMP-OIGGROUP = TOIGVCLGR-CLASS_GRP 

0..N

0..N

TVKN

MANDT [CLNT (3)]

KNOTE [CHAR (10)]

 OILKOMP-OIGKNOTD = TVKN-KNOTE 

0..N

0..N

 OILKOMP-OIGKNOTL = TVKN-KNOTE 

0..N

0..N

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 OILKOMP-OIGROUTEV = TVRO-ROUTE 

0..N

0..N

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 OILKOMP-OIC_MOT = TVTR-VKTRA 

0..N

0..N


